
{cfaq]Eff <l(Ekq{ q:r?Fi-<

qtftg ry<-oF, "lfir EETI s TT{|T T66iHT
qtfix ry<-orr frst't

fiE rr{ftKfi-a "[qt
<l(qlrq*t xF{rryt, ulol

yrww.lsd.gov.bd

4E q(qfl: 8}.o o.o ooo. oq5.5g. o\bg.es-9d. oP ffi 53eo
siRq: - aa qri{ffi ara8

Rqr: ffi o-cirr*rq {kb-rffi <r<El 1"rs{tqy Eav+ cfr-lur E qooo €T ffi( T-Rtr{ sd qsR fiErg
qT{'r$f q-{cST ob (€:F) fr-{ <lTft Aftffit q("td-c6t sl'ry6eof I

s"FfF Rq-{ e 1calq {Ersr "rRrdfrru qr{w rrcn cq, qFtt'fi I mffi tots EI6GI u1ffiT
qIfrT q-<-st< dfrctH 1qawft<e&)-cs frE Frtfmfi "[REI-.I-{ <r<ql t'|g{"m Uaxq m.fqrE eoeo q<
ffiq rfrE< sd cst{ q"E q-{r't?r <tfrT frEts{tq T{TT{ qa {D-s fidr*t cst6q 1qfr 396 frTrn
frE T-(oirrdfi ,{3 d{H fr-frft ofo6[, a-s-crr wc{ q(AE qs-q-{ cffit, oe sT-{ Em Tfrtrd qgr"rerr
(ol q-q at-?r q-sT"tfrqEl dftqq sq'rr{3r 'tks-ffiT dq"t T-{t qrr(ql

,!IslTql{,
o) oe s{ ft-{rr{ q-cql <Ffr aFmrq q(.t${trt{ frfr.s ffffit s qqd&Rflqrt6rm :rcqFT{
affi'F-f ETB'-$T,q fur't cel-f,caErq-at

s<R
cD <Fb s':ffiT rg q-{dmf,{'t6l sr E@ afisH q(.t$q6t frFu-s +-{K vrrr fim.rerq w{ril{ T-<l

?mtl

E"pTE-<

ffiI{: GC5oo8ob

t-cqQn, lgcc2@l gd. gov"bd

s${FdrAre.:ffiT
fr6 $r'irrdfi pr-s-{)

w1f{Pf-ws-Irdn r{raf: Gq-$-sm uryr{ry[< q{)

s r q-qtffiqs, qrqT qrfiT q-df,r{ dretl{ rqnqR.aqG), ql{Eldte, ul=Ftr

a I TrnqG< 1a Iir E{T{-5), qffrT Tf,fllir ReTt <I(ElrT.t qF<lqs, rFntl
.r r qFc<-< ,qolg qE<, qtfiT q-f,s.fd k"=T"t, <l(qlfiTt qBfiffi, ul+-tl
8l qBReo qF< (qul{ Edrrfl q-c{tq-cr-{ gfuqs F-f$6t, qtfia ags,l-f, ftsrt <t(Ercq{ {F<tqt, rtotr
c r qft-4 pP11

r.t{
dt{.IECT{ffi

d.-d
{rcT<I qr{:H


